Ly SRR ===}
M oINS 252 ZS(BIES/MGIEE - £7)
el H=g2 HEE S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (FE ) (D1 =™ o) Hns2
O o M o M
A} 1,129,531 951,616 177,915
=2 350,000
Al 779,531
oINS £ F2 B2 (BABS/ANGEE - 2=3F) 1,129,531 938,966 190,565
=2 350,000
Al 779,531
Heg 22 1,129,531 938,966 190,565
=2 350,000
Al 779,531
OISaE X2 149,531 153,556 A4,025
201 LEr2HH| 137,908 138,211 A 303
02 22=29H| 137,908 138,211 A 303
=0l At 137,908 138,211 A 303
OARDLETAIE SEZEAIAH SAH|
800,000 x12& 9,600
OU=sSZsAd M2
60,0002 x50 A * 122 3,600
QUHEESZESAE FHAMY
800,000 *11IH A& 8,800
OARZLEALE & FH L H=g ZE
ANE 2ZE2AANEL2 115,908
—ARZ BL58ME2)
319,200 1607 13 51,072
— A2 (13 =2)
56,5002 * 1600 A *33] 27,120
—ARS 2 30,7002 x1600H A x23] 9,824
— AR H> WA 580,500 43 2,322
— QFAE{ (470HE =) 306, 100 * 1100 A %13 3,368
— AR FA(X5t)
233,700 %951 A *13] 22,202
206 M=24l 11,623 15,345 N3, 722
01 M2yl 11,623 15,345 N3,722
=0l At 11,623 15,345 N3, 722
OARZLEAE ASAE 22
72,6402 x 160K A 11,623
ARDRTAIE B U XA 250,000 272,410 A22,410
401 Al&HI LR 250,000 210,000 40,000
01 Al&dl 248,560 208,000 40,560
=0 & 248,560 208,000 40,560
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S asE
I G 52 IS (BHES /Yo - +E)
el g2 a2 (ctel e
% 5 T Ofl & oK T Ol Ay =
SN -SAEAH) - MRAY - BES (Z= o) (913 o1) s pmE=ge
OARZEZAE RA 22
312,500% 1604 & 50,000
OLAR2asEAE 2SSA
1,241,000 *1609H & 198,560
03 Al =0l 1,440 2,000 A 560
2 0] & 1,440 2,000 A 560
OLRAR+EANE 2SS SA
200,000,000 *0.72% 1,440
22 AE HMASE =ZAIE B 30,000 30,000 0
401 AEHI X2 30,000 30,000 0
01 AlZHI 30,000 30,000 0
2 01l & 30,000 30,000 0
OLR2+EAE HMXSE =ZAE A
6,000,000 x50 & 30,000
AT AE S5+ DZ2X Y Kot LAY 200,000 180,000 20,000
401 AEHIL =2 200,000 180,000 20,000
01 AI&ZHI 200,000 180,000 20,000
2 0f & 200,000 180,000 20,000
Os= ds 22T A 2HNWLSA
50,000,000 *1J4 £ 50,000
OF&d 8F 272 Ad 2FHNWLSA
50,000,000 *17H A 50,000
0528 R 22T AE 2FMLIA
50,000,000 »1J4 £ 50,000
OFES 28 272+ AId 2FNWLSA
50,000,0002 » 1JH 2 50,000
BENALARZSTAL WAL 500, 000 0 500,000
z 350,000
Al 150,000
401 A€ HIZ 2 UHI 500,000 0 500,000
= 350,000
Al 150,000
01 AlZHI 499,000 0 499,000
= 350,000
Al 149,000
2 0] & 499,000 0 499,000
= 350,000
Al 149,000
OZ&ANS 472+ AIE HEAY
499,000,000 * 174 2 499,000
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